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® (a+b)(a—b)=a?—b?
@(a+b)2:a2+2ab+b2
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@® 2012 = (a—b)?

@ 499> = (a+b)?
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@ 103 x 97 = (ax + b)(cx +d)

@104x105 = (z+a)(z+Db)

B \
@ 2012 = (200 + 1)? = (a + b)?
@ 499% = (500 — 1)2 = (a — b)?
® 9972 = (1000 — 3)? = (a — b)?
@ 103 x 97 = (100+3)(100 —3) = (a+b)(a—0b)




9. (z-2)(z+2)(z*+4) S ANsH?
3 3, ]

@ z2-16

@z4 — 16

® 2t -4

10. 2ol wrojl A vig AAJstE 45t 7]
=)

A 3z—2y—{x — (Ty — 62) + 5} = ax+by+c
2o, a—b+c 9 g& Fotolzth
A 14, AR 10, 7 2 —10, HE

HE .12

1 —14,

[HiH 3, S5t

o

VvV V
02
L
ok,

A

~&B ~

3z —2y — {z — (Ty — 62) + 5}

=3z —2y— (z — Ty + 6x + 5)
=3x—2y— (7o — Ty +5)
=3r—2y—Tr+Ty—>5

=—4r+5y—5

O|JER2 g= -4, b=5, c=—5 °|t}.

wetA a — b+ c= —4 -5+ (=5) = —14 oJt}.

11. (4zy — 23y — 3wy?) + %xy £ hdo] & o, s
EHG BE AS G Fololzh (A 3, B
> &
> &EE:o

1
(4zy — 23y — 3zy®) + 3%
= (4zy — z3y — 3xy?) + -
= (4zy — 3y — 3xy?) x —

Ty

=8 — 222 — 6y
z? O AF -2,y o AT -6, 45 8
o]59] gh& FoHH —2-6+8=0 °|th

12. 50 — 2y = do+y—-3 L W, 50 -2y +5 5 = °
Pt 402 veholat, 1A 3, ot ]

c} -
=

>
> & —z+3




B

b —2y = —dv+y—3 & AP

Jy=92+3, y=3z+1

52 —2y+5=>52—23zx+1)+5
=br—6x—2+5
=-—x+3

13. o= -2, y=5 A o), T 49| ke Fspoier,

6 2 -9 5,4 _

br7y — Iy o 3, o)
3zy

> £

> ®eh: —6004

6&72y 9$5y4

@) - 5L -

=92 — 3 4,3
3xy 3xy z Y

2z — 3zt ol =2, y=5 5 tUstH
2 x (=2) =3 x (=2)* x 5% = —4 — 6000
= —6004

14. 424+ 3y =2 < W], 5(z —3y) — 2(4z — 3y) = z °

i3 3, ot ]

Ve Aoz ehfola

16.

B ‘
4r 4 3y = 2
S 3y=—4x+2
(4) = 50— 2 +42) 2 (40 — 2 +40)
=55z —2) —2(8z —2)
=9z —6

wAl 4= 0185t (z - 7) (52 +a) & AMSHAE
o, z o] A57F —30 otk olw) A4 a o] Fh 3t
o

(13 3, S5t

(z — 7)(5z + a) = 52% + (a — 35)z — Ta
z & AF7F -30 |2 =
a—35=—30

L a=5

(ax — 2)(Tx 4+ b) & AL Aol ca® + 102 — 16 &
o), A4 a,b,c o] ot a+ b+ ¢ 9] FHe Fatedat.

REEN
Ct -
[= )

[ 2
> ™et: 32




17.

(ax — 2)(7Tz +b) = Taz? + (ab— 14)z — 2b
7Taz? + (ab — 14)z — 2b = cx? + 10x — 16

_2b:_16’ .'.b:8

ab—14=10,8¢ — 14 =10,8a =24, .a=3

Ta=c ..c=21

sa=3,b=8, c=21

Sa+b+c=32

T =2 y:3°a’ﬂﬂ(—2xy2)2 yxlxyg]
’ 3 3 2

e N 4, 5% ]

® 3 @ 6 ® 9 @)12 G 15

3 1
2y3 X EIy

— X
i

_2 5 0p

T 4—3+1

2

:§xy2: x2x3%2=12

Wiy <

18. (z—2)(z+k)=2>+ax+bQ W, 2a + b 9] F2?

[BHH 4, 5% ]

o2 @4 ®-6 @s ©10

a=k—2,b=-2k
. 2a+b=2(k—-2)

(x—2)(z+k) = 22+ (-2+k)x—2k = 2® +ax+b

4 (—2k) =2k—4—2k = —4

19 (00 (o D) = (Baen) (Za— ) g s

qb? oA &4 p, ¢

@5 @ 29 ® 31

@

off H5ke] 9p +4q o Fh2?

@ 35 @40

2) (o) )

? a? + 9b?

2 4

Z 9"

2 2
A = 1 —b

. 9p+49=5+35=40

=a
§ 35
9“

@ (4o — 3y)? = 1622 — 122y + 9y?
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@ (x+3)?2=22+62+9
@ (42 — 3y)? = 1622 — 247y + 9y?
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@ (z+a)(x+b)=x>+ (a+b)x+ab
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® (z—a)? =2 2azx + a?
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® (azx +b)(cx +d) = acx® + (ad + be)z + bd
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14.98 x 15.02 = (15 — 0.02)(15 + 0.02)
=152 — 0.022
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25. F A a,boll totd #, x & a#b =a+b—ab,
axb=ala+b) 2 Zoott a= -z, b=2—4y 4
o, (a#b) + (axb) &z, y o T A o2 YERYHA?
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O 22—y @ 2% -4 ® 222 —y

@ 222 -2y @z2 — 4y
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(—2)#(z — 4y)

= —z+r—dy+z(z—4y) = 22 —dzy—4y ---(1)
(—z)x(z—4y) = —z(—z+zx—4y) =4zy ---(2)
(1) + (2) 314 2* — 4y




